ABLES .
The differential equation representing

the family of parabolas having @ertex a

origin and axis along positive direction of

Cx-ax191s
e S A SO e
\W —2xyy' =0 (d) None of these




The differential equation which represent
the family of curves y= ae’®, where a and
b are arbitrary constants.

(a) y =y b) y'=yy
) yy'=y d "= (y)
bn W
Y= ae |
<d‘:g.cb7b:§ J;U@'ﬁb:\;é
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The order and of the
_M

differential equafi :;11
“@ ,—nd"’”

5 =0, respectively, are 7

ind not defined (b) 2and?2
o\je /3\ ’\L(d) 3and 3
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D ABLES s

tan~' x +tan~! y= c s the general solution of

—

‘the differential equatioV_\)
1 xdy=

dy 1+ y -
a \-H\'l My 2 dn>
(a) dx \,/3 L (O tll)
dy 1+ Xz\/ )
(b) dx 1+ y2 ( H"’l )g + (144 dn=0

& (Lx) dyt (1+ ) dx =0
(d) (1+x%) dx+(1+y2) dy=0




- . . ABTES@)KOTA
Which of the following equation has

\‘(\2231 et + 6 ﬁ as the general solution?
d%y d’y
@ S 2Ty=0 QMdX—Z—Y:O

d2 d2
© | 3+1=0 @3 —1=0

- Y’ -
by - G+ Co€ X(-1=Ce -GE

—

a




The differential equation representing the

family of curveq i = A cos (x = B) where A,

B are parameters, 1s

2y d2y
—+y=0 —-y=0
%}(2 ®) dx?

d’y d d
Y _ y+y (d) d—z+y=0

2
dx= dx =

iQ>“A S\n(lﬁ*&)@&%
a - Pcog( nt B)
\/g};f Aog(nt )=~

Tty T

(c)
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The differential equation obtained by

eliminating the arbitrary constants a and
b from xy = ae* + be *1s —-rn-j»(-g = a0 bt (-l)

\
xy =0, l N
i Y+ g+ y = g0 +be”
: -
|l
(c) XM+2dy+Xy 0o 7 ""’zj =y
dx? dx
dy dy ;] ’nﬁ:o
——+2y——-xy=0 —
(b) 2 Y T = -
d’y d
@) —2+L-2y=0

dx? dx
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Directions : Match the terms given in
column-I with the terms given in column-II

and choose the correct option from the code .‘!
given below.

ABLES o

Column-I Column-IT

Differential equations Degree 0 ‘
’ D d

- PANNC)

15



Directions : Match the terms given in

= ®
column-I with the terms given in column—I@ j - f\ -yy ABLES KOTA

and choose the correct option from the code

given below. )
Column-I Column-II d - A )
(Solutions) Differential equations

'?A.y:e’“rl 1. y+sinx=0 U’: \d/n

B.y=x*+2x+C 2. xy’:y+x,/X2_y2
(x#20andx>yorx<—y) 87{ -vy-0

C.y=cosx+C 3.y -y =0

4. xv’:ﬂx;th

5—

) :
5. y—2%x-2=0 h :Z\{&S*q,} Sm')')
oy 122 \{/

B C D E F
(a)@ A 3 6 5
A2 ) 5 3
© 5 6 1 4 3
@3 s 1 6@ 17



i

Fo{ y = cos kx|to be a solution of
differential equatlo{ _m\j

the value of k1s

2 tl i ek k. () 4
() 6 " (d) 8
t) — s k»- K

N —CosKm- X +‘-[ WSKn = D

— 0
D CpSM[—»K ty)=o ! \\i +:A k=23
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: AB‘-‘j E|v|'.n:nr'r.m
B amyr -y 5> Y@ M= les
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—(,dy- o
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